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myMethod(2,5)

}
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Other ways to think about recursion ...
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*** In other words, a factorial method is going to need itself ***
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Here's a factorial class with method ...
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Here's a factorial class with method ...

public class factorial {

public static int factorial(int a) {

if(a==1)

return 1;

else

return a*factorial(a-1);

}

public static void main(String[] args) {

System.out.println(factorial(4));

factorial(4) = 4 * factorial(3)
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factorial(2) = 2 * factorial(1)

factorial(1) = 1

Java now builds the solution

starting at the end!
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Here's a factorial class with method ...

public class factorial {

public static int factorial(int a) {

if(a==1)

return 1;

else

return a*factorial(a-1);

}

public static void main(String[] args) {
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Here's a factorial class with method ...

public class factorial {

public static int factorial(int a) {

if(a==1)

return 1;

else

return a*factorial(a-1);

}

public static void main(String[] args) {

System.out.println(factorial(4));

factorial(4) = 4 * 6

factorial(3) = 3 * 2

Solved:  factorial(4) = 24
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One last recursion example ...

public class unit4Day2 {

public static int beware(int a)

if(a==5)

return 2;

else

return 2*a-beware(a-1);

public static void main(String[] args) {

System.out.println(beware(8));

}

}

beware(8) = 2*8 - beware(7)
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One last recursion example ...

public class unit4Day2 {

public static int beware(int a)

if(a==5)

return 2;

else

return 2*a-beware(a-1);

public static void main(String[] args) {

System.out.println(beware(8));

}

}

beware(8) = 2*8 - beware(7)

2*7 - beware(6)

2*6 - beware(5)
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Java now builds the solution

starting at the end!
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public static void main(String[] args) {
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}
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Java now builds the solution

starting at the end!
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One last recursion example ...

public class unit4Day2 {

public static int beware(int a)

if(a==5)

return 2;

else

return 2*a-beware(a-1);

public static void main(String[] args) {

System.out.println(beware(8));

}

}

beware(8) = 2*8 - beware(7)

2*7 -      10

2*6 -       2
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One last recursion example ...

public class unit4Day2 {

public static int beware(int a)

if(a==5)

return 2;

else

return 2*a-beware(a-1);

public static void main(String[] args) {

System.out.println(beware(8));

}

}

beware(8) = 2*8 -       4

2*7 -      10

Solved:  beware(8) = 12

Oct 16-9:12 AM


